
 

  

 

 

  

 

 

 

 

 

 

 

;xsf/L ljefusf] ldlt @)&(÷)$÷#! Uft]sf] lgb]{zg adf]lhd k|sflzt  

@)&( efb| d;fGt sf] ljQLo ljj/0f -ckl/is[t_   

   

qm=;= ljj/0f  /sd  -? xhf/df_  

1 z]o/ k"FhL  29,39,700.30 

2 hu]8f sf]if 8,02,577.50 

3 s'n art 4,23,04,871.41 

4 C0f nufgL  3,59,53,554.38 

5 t/ntf /sd  78,15,728.10 

6 s'n ;+:yfut k"FhL 8,62,185.86 

7 ljleGg sf]ifx?sf] hDdf /sd 3,53,171.48 

8 s'n ;DklQ  5,03,05,797.17 

  cGo ljj/0fx?   

1 
t/ntf k|ltzt  

-g]kfn /fi6« a}+ssf] lgb]{zgdf pNn]lvt t/ntf u0fgf ljlw cg';f/_ 18.47% 

2 s'n z]o/ ;b:o ;+Vof 15,581 

3 s'n C0fL ;xsf/L ;b:o ;+Vof  2,791 

gf]6 M olb lgodlso lgsfo / n]vfkl/Ifsn] sf/0f ;lxt ljj/0f kl/jt{g u/]sf] 

v08df ljj/0fx? Kfl/jt{g x'g ;Sg]5 . 

ldltM @)&(÷)^÷)^  

 

 

cflwsfl/s b:tvt                                     cflwsfl/s b:tvt 

k|d'v–n]vf ljefu                                 gfoj k|d'v sfo{sf/L clws[t 

  


